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QUESTION 1

Which two statements define the mechanism for console access of the Guest Operating System from the Cisco IR829
router? (Choose two.) 

A. The Guest OS can be accessed by default on Telnet port 2070 from the Cisco IR829 console. 

B. The Guest OS console is available directly by the AUX port 3362 from the Cisco IR829 router. 

C. The Guest OS can be accessed directly using the console port on the Cisco IR829 router. 

D. The Guest OS can be accessed by initiating SSH from the Cisco IR829 console. 

E. The Guest OS console is available only when a static IP is configured on the host. 

Correct Answer: AD 

 

QUESTION 2

Which lightweight protocol is used to send data from the edge compute resources to the cloud? 

A. MQTT 

B. XMPP 

C. AMQP 

D. MT Connect 

Correct Answer: A 

 

QUESTION 3

The environment for an Industrial IoT project in a large open pit mine is being scoped. The location has a large amount
of dust and the device will be exposed to less than 1 meter of water temporarily. 

When the edge device is being chosen, which Ingress protection rating must be used? 

A. IP37 

B. IP61 

C. IP67 

D. IP76 

Correct Answer: C 

 

QUESTION 4
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Which computer security concept is violated when a web server is written that uses the "root" account for all interactions
with a Linux system? 

A. principle of least privilege 

B. PermitRootLogin 

C. certificate-based authentication 

D. RBAC 

Correct Answer: A 

 

QUESTION 5

After an application is deployed, potential issues arise around connectivity. As part of the troubleshooting process, the
IP address must be determined to ensure end-to-end communication. 

Which method provides the required details using the Cisco IOx CLI? 

A. ioxclient application status  

B. ioxclient application metrics  

C. ioxclient application getconfig  

D. ioxclient application info  

Correct Answer: D 
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